CRCONCESNONCRCNONCNC) ®©Q0eO®OeO e ©EReO®EOE e

®©®0e0®®eE e

100M
10.74 M
10.74 &%
10.83 &k
10.98 k%
11.01 A#
11.02 M7
11.03 [EF
11.03 &%
11.07 &
11.07 P9k

200M
22.09 =M
22.11 K&
22.17 &k
22.43 BiE
22.47 Kt
22.49 ED
22.54 iy
2254 X%
22.65 EBH
22.82 [EF

400M

24

i

pe

B vty
B

7 1E
[ER
fHIE,

H‘} \ﬂa

5
pecki

i,
P

B S W B RS
& WO W P

49.31 z3yh UTLE SR

49.53 f&#¢
49.81 &M

(EPN

50.04 HBH BA

50.75 kM
50.77 AAF
50.79 182
50.99 0
51.04 ff
51.04 215

800M
1:55.14 =%
1:57.34 #EM
1:58.03 #MA
1:58.13 ®H
1:59.57 Bk
2:00.21 K78
2:00.30 =+t
2:01.03 [
2:01.53 AR
2:02.29 HE

B)E
BN
=A
ARE
B’E
&

I,
i
%
nE
st
#E
A
Bt
TN
fassst

e
)
)
AP EREERE
Ealllz=yrEl 3
AEPE
= REFfxig
AEPE
[ERvAEE):
fBIINEES

E=ES
@ W
oy A

Il
|78

itim

). ke
181175
itis
BB
ALiR R
IR
HLIRE—
S
BRI

AL

B &

by
ILTR
L
AN

BINKE
Sl
BiEPE
Bl SRS
BiEPE
L Rark%

BR
]

BEEET

AL
&

FLIRBA A
AEPE
UNGEE
BIIE
iSRS
)l
HLIRIL D F
BIRE
LE)INSES

EE

®©®0e0®®eO e

® ©®0e0®eO e

N P NN NN NN P

NN NN NN NN N =N

®©®0e0®®eO e

®©®0e0®®eO e

XERRENZ M1 0
(BFLTv2)

1500M
4:00.04 =3E FAIR
4:03.44 & B

4:03.60 fe4 AR E=3

4:04.08 FE B®F
4:08.18 B 1fth

4:09.19 HH M#F
4:11.18 gEH &2
4:13.03 7R HKX
4:15.92 = EBK
4:16.79 1 #8

5000M

15:43.90 E%
15:46.40 28K
15:48.74 £l
16:01.29 X4z
16:17.11 &1
16:21.54 :BH
16:30.63 F#&
16:33.06 #HFH

%%

&3

FLIE
FEE
=g

JER

16:34.65 Fo 2= 3}

16:35.39 HJII AR
110MH
15.36 AHF 2+
15.40 #Blh IEE
1569 58 [EH
15.79 4K

16.00 i ZoE

16.08 H 1
16.14 /LB =
16.38 & KIE
16.40 3% BIfR
16.44 5+ A

400MH
55.62 k4 AR i

56.12 R4 LA

57.23 £5% [E#&
57.34 $5K it
58.05 H# 2+
58.12 Rk &
58.29 B8 AKX
58.79 it A

5013 ER E

59.14 F&F &KX

&5

ERPN:L

FLIRRA A
HLIRIL D F
HLIRIL D F
BRBARALIR
AEPE
BIIE
AEPE
wIR=5
fB)1HE
HEET

BRBARALIR
JtimER
HLIRIL D F
HLIRIL D F
AEPE
RS
AEPE
)T

It Rk
HLIRE X

FLIEAB
HLIRFE

IR E BB R

HLIRAL

itiE
RBARALIR
PN

itiE
ElaSER S
BRBARALIR
EE
HLIRAL
HEER
Cld

®©®0e0®®eO e

NN NN NN = NN NN

NN NN NN PN NN

®©®0e0®®eO e ®©®0e0®®eO e

®©®00®®eO e

3000MSC

9:49.99 B 1t

10:01.94 &1
10:02.19 ;:BH
10:03.14 3 H
10:09.68 F&ED
10:16.21 &%
10:16.77 FIR
10:19.94 #kT
10:21.53 =k
10:25.81 1L

5000MW
25:10.97 1RF

25:13.67 4 K

26:24.13 hH
27:21.04 £ 2
27:27.43 it
28:05.09 & T
28:55.28 i=EE
28:56.43 EA
29:04.07
29:09.05 dtJ1|

4 x100MR
41.92
42.08
42.24
42,51
42.99
43.38
43.60
43.71
43.73
43.83

4 x400MR
3:21.09
3:23.00
3:26.17
3:28.04
3:28.94
3:28.95
3:29.19
3:30.12
3:30.53
3:30.91

INHRE

fLEE
FEE
g
(EPN
Bl
F1E
=8

BEX
BX

S

PR

A

=
=E

=
4
SEAES

AEPE
AEPE
HIEER
HLIRAL
LIRS
HLIRE X
HLIRIL D F
HLIRIL D F
fB)1HE

N

Ptz

It Rk
LR AL B
NGRS
HLIRF AR
HLIRE A
)T
)T
=

el N

pilllzoanc]

N NN NP NN NN =N

=N R, N R RN R NN



EmB

1m85 A
1m83 #A
1m80 A&
1m80 i
1m75 &
1m75 JA]J&
1m75 #EH
1m74 #=%
1m73 #EH

®©Oeee®eO e

B
4m00 /I\Fx
3m90 Hif
3m90 f&H
3m60 %H
3m30 EH
3m30 &Rk
3m30 /IFr

3m10 &#f

3m00 E%
3m00 8RS

CRCONCNCORONCRCNONCNONC)

Rk
7m12 /R
6m83 =&
6m72 5K
6m65 T7H
6mb53 i
6m47 Kok
6m46 /M|
6m45 21|
6mé4 =
6m42 [E 5

®©®0e0®®eO e

1m92 & =R

B
BN
T
%

=

=z
T
A
W

JBF%
il
&N

Le=S

B
=]

57
LIPS
K&

3m00 KAR fh5

T
ich

Rt
AEPE
KEEFT

NG
It Rk
HINCR
ERY

N
HESE
HLIEFE

AEPE
IR E BB R
WwERT &
FLIR T
FLIREE S
FLIRRE LS
AEPE
A
HEEHHER
IR+
Rt

ElaSER S
ElaSER S
AEPE
BRBARALIR
BIRE
HER

AP EREERE
FLI T
HEE R
BIRE

®6 IO B

=N R R NN RN RN

CECHCONCORONCNCNONCNONC)

®©®0e0®®eO e

(BF74—LFK)

=Bk

13m29 &7k
13m25 &)1l
12m97 &=
12m93 &M
12m89 /II|
12m81 Hif
12m75 /NP
12m67 A
12m64 E{E
12mél F£=&
12mé61 f&aH

RSLIR
13m43 KT
12m10 34
11m92 HEk
11m75 X&
11m65 Tk
11m60 &L
11mb5 Ei&
11m38 LRk

A
s
Kz
BB
B
=g
sl

e
EE

11m29 % T

10m95 kM
10m95 ZAf

%

38m60 AK
36m63 FA
36mb9 ATHE
356m94 3
35m21 R
35m00 T jE
34m79 &l
34m71 M
34m34 &M
34m17 EH

FARBA
TN

Py
ek
BX
He
12—88
HER
=
HiE
K

BT E
HLIRAR
HEEHHER
ALIRTE
SLAREREERE
BRAG
HEERS
B E
FERIE
DERvARR):
MEmT

INBIKEE
NG RBE
BIEEA A
ALIRZEBL T
fBJIKE
EEER
fBJIKE
\E
LRI

3 o I
S
E4 &
B At

=
S

R

TR
AIRELLT
BRIER
HLIRFEE

LN

N P NN NN P NN P =N

N NN PPN P PPN

® ©®0eO®eO e

® ©®0O®®ee e

NI
45m27 18)l|
45m12 AR
43mb2 i
40m12 K#R
38m82 B4

KIE
K&
#5230
Bt
FETR

3Im77 R B}

34m68 A /1|
33mb4 HiE
33ml5 BIR

33m09 “&

Uk
51m69 F+H
50m23 5 H
49m91 #1:A
49m44 &H
49m00 LK
47m63 A1
47m23 AR
46m99 tEH
46m91 pkH
46m80 B

=
291
A
LIDE

EE

foicd
=

el
BEK
1
B
A=
=
=1
R=EB

#Il ER BA
EE
PR
IIN-
HER
EFWIE
BaliEk
EE

B RIRAE
Be&

HER
IR —
FLIRRA AR
FLIRTHE
B
HER
18I
IFE
EE

FLIRRE A

N NN P, NP NP NN

NN NN P NN N NN



